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My 7) 5\/mmg/'n'fc/7 Zuv y«/q//ljf = f(X):0X4+bXQ+(
FG)= %ax"+2bx
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a +b == 4

ba +1) = ety

Gk = -7 = g=z-2+}=2
1h = -8 = b=-¢

e g e doy "~ 4 = H(f)= -3

T0)=9x3-8x = [ (D=0 }
" = 1-3
Pr(x) = 24Xt =8 = £"(1)=448 T(1 ) /

Ny 9) f(x)= ax +bx +C)(+0I FiUy)= 3ax "+ 2bx e

a)A(Htf)s» f(4)~a+/.7+c+d 4
B(-116)=> f(A)=-0+b-c+d =6
c(-214) = [-2)=-80+4b-2¢c+d="*
Hochpuntt V-Achie < F'(0)=30-0 +2:6-0 +C=0
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Gtb +od=¢ =-1-3+d=4 5 d=4+13-¢
10 =-2=0=-1

Jo —36 O =-3b=-9a=49 = --3

Flx)e~dx = 3x%4.8

f'(¥)=-3x*-6x =>T1'(0)=0
F'(x)= -6x-¢ =>F"(0)= 647}9”(0,(?) /
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Mr.g)  Fx) = ax3+bx1+'cx+d; f'(x)= '30)(1-}26)«. e
6) A112) = F(V)= 8a +4h +2¢ +d=2 A

B(319)= [(3)=1%0+3b+3c+d=39 |- 4
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8 F'(4)= 3a +1btc =0
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6o t&h+1c =8 |+ (-1
Zo +3b + -1 o (-1)
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a+btc +d =4 2d=-1-1(3)-3+1=0
DA +2b+C = 0=C=0-3-22(:3)=3
i =0 1t A =4 =>-b=-1+¢>5--3
e :4‘,:_>a=4

F(x)= 4’X3—3'}<2+3x- .
Flx)= 3x"-6x+3 > F'(1)=31-6+3=0

Fix)=6x -6 = 1"(0=¢1-6=0 T

Prix) >0 For d'ek? "2 2, s 05
| belle 4 = An de Stelte 1
\/-5"_( A(/h 7;-,

[/7711/'/. fﬂhﬂ//lh- €
Sor 5’(//30'74/ .

= Aone Zo”fwy

0. Fell



